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SOLVED PAPER

SSC

HELD ON :
29.07.2012

GENERAL INTELLIGENCE
AND REASONING

Directions [1-8) : In the fol-
lowing questions, select the related
word/letlers/ numiber [rom Lhe giv-
en allernatives,

1. Bus : Read @ : Train : ?

(1) Juncliinom (2] Rail

[4) Trail [4) Engine

2. Police : Constable : : Clags @ 7
[1) Teacher
[2) Student

[ Monitor
[4) Principal
3. Bird : Feather : : 7
[1) Tree : Leaves
[2) Lady : Dress
[3} Fish : Scales
[} Skin : Man
4. Spring : Rlasticity : ¢
[1} Person : Whims
[ Wool @ Warmth
[ Marketing : Advertising,
[4) Radio : Broadeast
8. TIPS : SPIT : : GOD: 7

(1) ODG (2) GOOD
[3) DOGO {4y DG
6. GFED : TSRO : : KJIH: ?
(1) PQRS 12) HIJK

(3) XA (F) WXYZ
T B:26::81:7%

1) 20 12) 29

[3) 212 (<) 732G
B.3:268::7:124

(1) 15 (2] 14

13 17 (4] 24
9.4:27::9:7

1) 12 (2) 84

[3) 32 (4] 16

Directions (10-18) : [ the fol-
lowing questions, select the one
which is dilferent from the ather
thres respon ses.

1@. [ 1) Square metre

2} Square [cot

13) Sguare inch

(4) Sguare root

SSC STENOGRAPHER GRADE

‘C' & ‘D' EXAM -

11. (1} Squarc
(3} Triangle

12, (1} Hard
(2} Painted — Blunt
[ Sweel — Sour
(4) Long — High

(2} Cone
{4) Rectangle
Solt

13 (14 LIS {2} QPO
(3} WS [} ZYX
14. (1] ACEG {2} BOFH
(3] CEGI 4} DEFI
15. (1) =rgP 2] nmlK
(3] giED 1] TSuv
16. (1] 33,17 2] a8, 21
(3} 56.25 {4} 58,31
17. (1) 625 {u) 245
(3) 168 {4) 256
18.(1} 8%, {2} 45
(3 28 {4 a4

Directions (18-20) : In the fal

luwing qudstions, which ane of the |

glven respanees would be & mean-

inglul order of the following words |

in ascending order
19. 1. Collector

2. Governor
3. Chicl Sceretary
4. Presldent
3. Clerk
(1)1.2,3,45
(2)5.1,3.2.4
(351,53 4,2

45.1.4.3.2
20. 1. Wockly 2. Dally
3. Monthly 4. Fortnightly

5. Bimonthly
(114325 (22,1430
(314.1.2.3.5 (4} 5,1.2,3.4
21. Which one of the following
words will appear fourth in the
English dicticnary 7
(1} Encradle  [2) Encourage
(3) Encreach:  [4) Encounler
22. Which one set of lertters when
sequentially placed at the gaps
in the given letler series shall
complete it 7

— ZY — BAY — YXZX — X — XY

(1] vxmyz (L) muoysy

(3] vexyx (] myuy

Directions (23-28) : [r1 the [ul-
lowvimeg, questions, choose The cor-
recl alternauve fom the given ones

[ that will complete the serics.

23. MES, LDR, KO, _7_, 1a0
(1] KCO (2] KBY
(31 JCG {4} JBP
24, [KMO, TVXZ, _?_. LMNOD

(1) ABCD (2) CEGH

(3 EGIK (4} GIKM
25.4, 7 144,400,900, 1764

11) 256 [2) A5

{4 49 14} 100
26. 7, 10,468, ¥

(1) 145 [2) 130

{3 128 4] 145

27, Fud the wrony narnbaer in the
givel seres.,
9. 16.25.36 40,61
(1) 14 (219
23 19 (111
28, Fathima while introducing
Mustafn 1o her hushand sad,
his brolher's tathoer 45 the only
son of my grondflather, How is
Fathima related o Muslalz
(1) Aunt (2] Sister
(3) Nieoe (4] Blotter
22, Tarun’s age s the cubo ol a
whale romber. 1 was aquare
of another whale number Lwo
vears ago. [low long he muost
wiit Teelore fus e i agiin e
cube ol 4 whole number
11} 2 yuers [2) 10 yrars
13) 37 vedrs (4] 39 yours
From the given allernatives,
aclert the word which can he
lormed using the letters ol the
givier word.
MEASUREMENT
(1) ASSLRE (2] MANTLE
(3] MASTER (4} SUMMIT
From the diven allernatives.
aelert the word whicrh cannot
o formed using the letlers of
thi given word.

31
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RATIONALE
(1) RATION (2] TRAIL
3 TONER (4} RELATE

- 32,1 In a certain code, DAUGH-
TER is written as TERDALGH,
how will AFTITUDE be written
in that code ¢
(1) DEUAPTIT
(2} UDEAFTIT
(3 DUEAFITI
[4) DATTEPTIT

33 If GERMANY is writien aa 7,
5,18, 13, 1, 14, 25, how can
FRANCE he writien in that
code ?

(1186,158.1.14.35

(216,3,158,14,1,5

(3 8,2,14.5,13,6

(4] 8.16,14.3, 1.5

Directions (34-35] : In the ol
lowing questions, find the missing
nnurnber from the given responses.

34. B} 60 T

a0 B 20
B0 50 40

1] 30 I TH

{3) 140 {4)20
3. 7 9 10
- 4 B B
2 3 4
14 7 I5

(1) 20 [2) 24

(3) 28 432

38. Following equations ure sulved
ont the basis of a certain sys-
tern. On the sane basis, find
out the correct answer for the
unsolved eguation.
B+5+3=23G§, 3+7+6 873,

then 4 +7+6=
(1) 476 {2] G741
{3} 764 {4) 746

a7, Salect the correct combinalion '

of mathematical signs to re-
place * signs and Lo balance
the given equation.
I5*5%3=25 ,
“] =+ R [2} W=
() +== Hx=+

A8, If A stands for "Addition’, M lor
‘Multiplication’. D for "Divi-
sion’, G for "Gresler than' and
L for ‘Lesser than', then which
al the followlng allernatives
will be logically correct ?

(1} 18DBASLAABDZ
(2] 18DoASLBAGME
[3) 18A6GMIL3M3AY
(4} 18D2A1GAM2AG

38, Vijet walks 5 km lowards
Swully, then lie walks 3 km
turning to right. Again he
turns Lo his righl arnd walks G
km. Ile then turns o his 1ol
and walles & k. How far is he
now [rom the starting poinl 2
(1] 3 21 & kin
(3] & km (4] 6 km

40. A man starts from a point ¥ |

and walks 3 km southwards,
then he turns left and walks
& km. In which direction is he
from the starting point ?
11} Seuth — West
{2) South — East
{3) West
(1) South
41. P's age is equal o [ Ris
vounger than 5. T is younger
iharn R but elder than
Which one is the oldest 2
P 2) 9
13 R s
42 . (0 iz tn the West of B and
South-West of A, D is to the
Morth-west of A and Morlh of
C and is 1o line with A B, Tn
which dircelion [rom the point
of A, B s located ?
(1] North-East
(2] South-East
[3) North-West
{4} South-West
Directions (43-44) : In the fol
lowing questions, two starementa
are given lollowed by two-conclu-
sions | and [T, ¥ou have to consider
the slateinents to be true even il
they seem to be at varlanece from
commonly known LEels. You are to

decide which of the given conclu- '

wiors, il any, follow from the given
staterments :
453. Statements :

1. All players are doctors.
2. Some doclors are aclors.
Conclusions :
I. Some doctors are players as
well as actors.
1. All actors are doclors,
(1) Only conclusion | follows,
(2] Only comclusion II follows.

(3) Both conclusions | and 11
followr.
(4) Neither conclusion I nor 1l
fallows.

44, Statements ; Classical music
is divine. Talented people can
learn classical musie easily.
Conclusions :

I. Those who leam classical

music become great.

II. Only talented people ean

learm classical music.

(1) Omly comclusion | follows.

(2] Only concluston [ lullows.

(3] Baoth conclusions | and 11
© follow,

(4] Meither conclhusion [ nor [l

foll orwes.

45, Which one of the following
diagrams best depicts the re-
tationship amoenyg Elephants,
Wolves and Animals ?

un@o

@ ()

" 1{-. ‘\'I
Wi ,} -
46. Which answer fl pgure will com-
plele the pattern in the ques-
tlon [gure ¢

Question Figure :
7
1)
ﬁnsﬁe; -ll"lg‘u:ruu g
PR Y m—
AFIEIE

i (2) 31 (4

47. Select the answer ligure in
whicl the question ligure is
hidden /embedded.

Guestion Figure :

>
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Answer Figares :

R

m_ @ i3] (@)

48, A piec: of paper is folded and
cut as shown below in the
question figures. From the giv-
en answer figures. indicate
how it will appear when
opeaed ?

Question Figures :

(1) (2) (3 (4]
48. Which af the answer figure is
exactly the mirror image of the

given fligure, when the mirror
iz held on the line AB 7

Question Figure :

-

Answer Figures :

I

‘1 |
i1 @2 W (4]

50. A word is represented by only
ane sct of numbers as given in
ariy one of the alternatives. The
sets of numbers given in the
alternatives are represented by
two classes of alphabels as in
two matrices given below, The
columnns and rows of Malrix [
are numbered from O to 4 and
that of Matrix Il are numbered
from 5 to 9. A letter from these
matrices can be represented
firsi by its row and next by ils
column, e.g., ‘A’ can be repre-
senled by 02, 14, 33, ele. and
‘K can be represented by 57,
g4, 85, ete. Identifv the sel for
the word SOAP.

OWNOa

rom .

Matrix-1
oj1[z[3a
O|R[STACN
I|CIN|R|[S|A
2ls(al|C[N R
3IN|R|[STA[C
4|A|C|[N[R|S
Matrix-1I
[ 5[6[7[&[9]
5|0|B|(K|E|P
B|E|P O|B|K
[7BIKTE[P|O
[8[P[O[B K[E
BEEEEE

(1) 13,55,21,66
(2) 01,56,21,67
(3) 32, 56, 20, 66
(4) 20,55,21,66

GENERAL AWARENESS

B1.The present monetary system
in India s managed by
(1) Nationalized Banks
(2) The State Bank of India
(3) The Central Finance Min-
istry
(4] The Reserve Bank of India
52. What 15 a Multinational Com-
pany ?
(1) A joint venture among more
than two countries
(2) A company set up with for-
eign capilal
(3] A company having opera
Lons in many countries.
4] A company holding a mo-
nopoly over the sale of a
certain commodity in sev-
eral countries.
B3. Explicit + Implicit Costs =
[1) Private Costs
(2) Accounling Costs
(3] Economic Costs
[4) Social Costs
54. Which of the following is not
relevant lo Human Resource
Development 7
(1) Education
(2] Wornen and Child Develop-
ment
[3) Caste system
(4) Youth Affairs and Sports

pr/fsscportatin

55. A Trade Cycle consists of
(1) Three Phases
(2] Four Phases
(3) Five Phases
(4] Six Phases
56. The Khilafat Movement was
organized to protest against
(1} religious interference by the
British
(2] Russian Revolution
(3) dismemberment of Turkey
{4) suppression of Pathans
57, Planning Commission was es-
tablished in the year
(1) 1880 (2] 1970
(3] 1950 (4] 1960
58, India witnessed single party
domination till
(1) 19562 (2] 1967
[3) 1971 (4] 1977
58, Which part of the Constitution
of India has been deseribed as
the soul af the Constitution: 7
(1) Fundamental Rights
[2) Directive Principles of State
Puolicy
(3] Preamble
[(4) Panchayats
60. Constituent Assembly adopt-
ed the Constitution on
(1} 15th Augusl 1947
{2) 26th November 1949
(3) 26th January 1950
(4) 20th Januury 1948
61. The rustless Iron Pillar at Me-
hraull (Delhi) was erected by
the
{1} Mauryas
(3) Guptas
[4) Satavahanas
62. The famous ‘Gayatri Mantra'
has been laken from
(1) Rigveda (2) Samaveda
(3) Yajurveda '
(4] Atharvaveda .
63. The Rajput King who was de-
feated by Babur in the battle
of Khanwa was
(1) Udai Singh
(2) Rana Pratap Singh
(3) Rana Sanga
(4] Rudra Deva
64. Who was the founder of the
Ramakrishna Mission 7
(1) Sr1 Ramakrishna
{2) Swami Shraddhananda

(2) Kushans
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(3) Keshah Chandra

(4) Swami Vivekananda
656. Who led the Mutiny at Kan |

pur ¢

(1} Begum ITazrat Mahal

[2) Wana Sahib

{3) Tantia Tope

{4} Ranl Laxmibai
66. Which "Water Body' separates

Andaman and Nicobar Is-

lands ?

(1] Andaman Sea

(2] Bay of Bengal

(3] Ten Degree Chunnel

(4] Eleventh Degree Channel
B7. 5tate Highwavs are main-

Lained by

(1) ndividu=l States

(2) Central Covermment

(3) Central and State Govern-

ments jointly
(4) Private parties selected by
the State Govermments

68, The first port developed afier

Independeriee was

[1) Nhava Sheva

(2) Kandla

{3 New Mangulure

{4 Mumibai
69. The neighbouring counlry of

India which has the smallest
arca is
(1] Sri Lanka
(2] Bangladesh
(3) Bhutan
(4) Nepal
70, Kaxirangs Wild Life Sanctu-
ary is in the State of __

[1) Bihar (2] Taurul Madu

[4) Arsam (4) Kerala
71. Heein is extracted from

(1) Papaya (2] Pine

(3) Rubbur (4] Baryan

72. A cumnon plant found in trop-
ieal rainforest ic
[1) Pine
[2) Euealyptus
[3) Orchid [4) Fir :
73. Which of the following vita
mins is necessary for clatiing

of hlood ¥
(1) K [@e
3 A {4) B
74, Influenzs virus contains
(1) RNA only

{21 DNA onlv

[3) Both RNA and DNA in egqual
proportion.
(4] DNA with very small pro-
portion of RIMA.
76. Lung lish iz a link hetween
(1) Arnphibia and Birds
(2) Heptiles and Birds
(3) Amphibia and Reptiles
(4) Reptiles and Manunals
76, Green gland is Ut oxoretory
wrgan of s
(1} Earthrworm (2] Cockroach
[3) Prawn (&) House-Ty
77, When pressure s increased,
Lhe boiling point: of water
{1) decreases
(2} increases (s
{3} remains the same
{(4) depends on the volume of
vapour formed:
78, In the treatment of skin dis-
ease Lhe radio isotope used is
(1) Radio phosphorous |
2] Radio icdine
(3] Radio lead
(4) Badic cobalt
T9. Hainhow has : [Choose ineor-
rect statement)
(1) red light as ils ouler-maost
colour towards sky
(2) red light as its inner -most
colour towards carth
[3) violel light as ire inner-
mast colain towards earih

(4) fts curvature bent towards |

earth.
BOD. A cyelist in circular molion
should lean
{1} Forward
() Backward
{3} Sideways towards the cen-
tre
(4) Sideway away from the cen-
re
B1. The monitor of a compuler is
(1) an input devies
(2] an output deviee
(3) a storage device
(1) & processing device
—_ imu collecton of wires
lhirough which data is trans
mitted from one part of a com-
puler o another part.
(1) Port (2] Channel
(3) Bus () Add en card

B2,

B3. Amalgam iz an alloy iny which
the base metal is
(1] Copper {2) #ine
[3) Alurninian (4 Mercury
B4. The phyvsical methed com-
mwnly used ro purify sea wa
ter is
i1 Evaporation
2] Sedimentation
{3) Filtration
4) Distdllation
85. The chemical name of “oll of
vitriol® is
(1] Phosphoric acid
2] Mitric acid
(7] Sulphuric aecid
(4) Hvdrochloric acid
8G. Calhosde rays are
(1) Elcclromagnetic waves
(2) Radiations
(3) Blream of o-particles
[4) Stream of elecirons
87. The National Park “valley of
Flowers' es in the State of
(1] Kerala
(2] Hinachal Pradezh
(3] Tilarakhand
i) Jammu & Kashmir
88, Bhopal Gas Tragedy was
caused by
(1) Nitrogen
(2) Oxygen
(3] Methyl isucvanite
(4] Cranide
BO. The example of a secondury
pollutant s
(1] CFC (Chloro Ihero carbon)
(2]} PAN [Permvy acety] nitrate)
(3) CH, (Methane)
(4) CL, (Chlorine) .
8d. In big cities, alr pollution is
mainly due to
(1} burning of fossil fuel
{2} thermal power plant
(3) sewage
(4) suspended parlicies
91. The term ‘Lel' is associated
wilh
(1) Hadminton (2] Chess
(3] Hockey 1) Football
92Z. The orzl palin vacecine was
discovered by
(1) Alexander Flemming
2] Janas [Salk
{3} Edmond Fischer
{4} Juseph E. Murray
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93. Wha of the following Nobel
Laureates for ther relentless
siruggle for peace, was award-
ed 2010 Nobel Prize 7
{1) Barack H. Obama
(2] Liu Xiaocho
{3} Marttl Ahti=aar
(4} Shirin Ebadi

84, The Umiam Hydel-Project dam
is lpecated a low kilomelres

norith of
(1) Guwahati (2) Shillong
(3] Kohima [4) Imphal

B85. The expenses of the Govern-
menl ol India are the highest
o account of subsidy on
(1) Fertdizers (21 Qil
(3) LPG (4] Food

B6. In accordance with the direc-
tions of RBL, banking facilities
are required to be provided al
all places having population of
more than 2000 by the end of
(1) March 2015
{2} March 2014
{3) Meuch 2013
[4) March 2012

07. Bodoland Territorial Council
{BTC), an autonomous self-
poverming body, was created
witlun the State of
(1) Magaland (2] Meghalaya
(3) Assain (4] Mizeram

B8. ‘Simnla Pacl' belween India
and Pakisian was signed in the

yeAar
(1) 19585 2} 1271
(4] 1972 (4] 2001

89. In which of the lollowing
Slales are Gare and Khasi
tribes found ?

(1] Arunachal Pradesh
[2) Nagaland
(3) Meghalaya
(4) Mizoram
100. Manipur has comman bound-
aries with the group of States

of

[1) Nugaland, Assam and Mi-
ZOTaIn

(2) Nagaland, Meghalaye and
Tripura ;

4] Meghalaya, Mizoram and
Tripura

[4) Magaland, Mizoram and
Meghalaya

ENGLISH LANGUAGE &
COMPREHENSION

Directions (101-110) : In the
following questions, some paris of
the sentences have errors and some
have none. Mind ool which part of

a sentence has an error, The num- |-

her of that part is the answer. Your

answoer 13 (4) i.e. No error.

101.1 am thinking (1)/ to write (2} /
my autobiography. (3)/No er-
rar {4).

102. Your sari (1)/ is supener [(2)/
o mine. (3)/ No error [4).

103. The Ganges has overflowed (1)/
its banks (2)/ and each of the
four willages are flooded. (3)/
Mo error (4).

104. What vou (1] do in the [2)/
evenings? [3)/ No error (4],

106. Last night (1)/ vou returned
(2)/ lately. (3] No error {4).

106G. [ felt sure [1)/ he would die (2)/
and that his money would go to
his daughter. 13)/ Mo error (4).

107. Dresscs, shirts and children's
clothing (1]/ are advertised (2)/
al greal reduced prices. (3)/) No
error (4).

108. Vijay, having finished his pa-
per. (11/ he (2)/ left the exam-
mation hall. (3} No error [4).

109. Two and Lwo [1]f are equal Lo
[2) four. (3} No crror (4.

110. She wondered (1)/ how was he
going to manage (2)/.if he
couldn't get a job. (3)/ No er
ror [4].

Directions (171-175) : In Lthe
[ollowing questions, sentences are
given wilh blanks w be fled in with
appropriale word(s]. Four alterna-
tives are suggested for each gques-
tion. Choose the correct altermative
out of the four

111. My lather home last

weck.

[1)left off (2} went back

[3} made out (4] came down
112, e assented Y Propos-

al.

(1)t (2) with

[3} above (4} al

113.1 horme before she ar-

rived.

(1) had left (2] left

(3} have left  (4) has left
114. You will have o your

mistakes.

(1) pay io (2) pay for

(3] pay off (4] pay over
115. The thicves in a sto-

len jeep.

© (1} made out (2] made up
{3) made off (4} made over

Directions (116-120) : In the
[ollowing questions, oul of the (our
alternatives, choose the one which
best expresses the meaning of the

given word.
118, Flatler
(1} hate (2] praise
(3) lowve {4) estimate
117. Fragile
(1) weak (2} durable
{3) lasting (4} sturdy
118, Unique
{1} ordinary  (2) common
(3) unusual  (4) special
119. [nevitable
(1) optional  (2) necessary
(3} countable (4) enviable
120. Bondage
(1) slavery (@] fetters
(3} chains

(4] imprisonment
Directions (121-125} : In the
following guestions, choose the
word eppesite inmeaning to the giv-
en waord.
121. Sterile
(1) lively
(3} plenty
122, Prominent
i1} prompt
(2) prolong
(3 insignificant
(4) prove
123. Memnory
(1) remminder
(2} [urgetiulness
[3) ignorance

(2} fertile
4] useful

{4) indifference

124, Relish
(1) tolerate {23 refuse
(3) disgust [4) relent

i 1256, Industrious

{1} industirial [2) lazy
{3) suaat [4) intelligent
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Directions (126-130) : In the
following questions, lfour aliéerna-
lives are given for the idioms,/ phras-
es. Choose the alternative which
best expresses the meaning of the |
idioms / phrases. .
128. Like wildfire
" (1) here and there f

12) slowly
(3) rapidly
. » |4 partially
127. A Herculean task ,
(1) A task which requires lit-
tle cllort
(2) A task which reguires a lot
of patience
(31 A task which requires
ENONMOous courage
(4] A task which requires great
effort
' 128, To make light of
(1) to bring light into life
(2] Lo treat as unimportant
) (3] to make candles
., [d4)to light a fire
129. To wok inlo
(1) to chserve

{Z) Lo search
(3] to peep
(4] to investigate
130. To egg on
(1tourge (2] to advise
(3) to ask (4) Lo warn

Directions (131-135] : In the
following questions, the first and
1he last parts of the sentences are

“ numbered 1 and 6. The rest is aplit
into four parts and named P. G. R
“rand 5. These lpur parts are not giv-
‘en in their proper order. Read the
"sentence and find out which of the
four combinations s correct.
131.1. The Leeds University
P. a number
. offers
A . to international
5. ol scholarships

. students
[N QRPS (2) RPSQ
13) PSR (4) PQRS

*.132. 1. Academicians
P. who have been involved in
the debate

@. including former Vice-
Chancellers |

R. that the legislation can
help providing & uniflorm
character

S on a common university
law. think

6. to the universily bodics
such as senate syndicate

ete.
(1) ROQPS (2) SROP
(3] PSR (4] QPSR
133. 1. Thereis
P as the gift

Q. and love lor !1u;|'lafytL}r
R. no such thing =
S. of brotherhood '

G. in this world.

(1)RPSQ  (2) PRSQ
(3) QPRS [4) BESFQ
184. 1. The World Health Organi-
sation

P. the greatest villain
Q. has pointed out

E. is

5. the tobacco

6. in the history of human-
kind

(1) QSRF 2) POQRS

[3) GPRS (%) RP3G

1356. 1. My friend's protest

P. acry

4. turned out 1o be

K. injustice

5. against

G. in the wilderness

[1)FRQS (2] SRQF

(3) QRSP (4) RSP

Directions (136-145) : In ihe
following questions. a séntence has
been given in Active Voice/ Passive
Voice. Qut of the four aliernatives
suggested, select the one which best
expresses the same sentence in Pas-
sive fActive Voice.

136. We should meet all our needs.

1) Qur needs should be met

2] All our needs are to be met

by us.

(3) Al our needs should be met

by us.

(4] All ol us should meetl our

needs.
137.The recently damaged roads
are heing repaired by them.

(1] The repaired the recently

darnaged roads,

(2) They have repaired the re-
cently damaged roads.

13) They are repairing the re-
cently damaged roads.

[4) The recently damaged
roads were repaired by
them.

138. A method has been devised by
them to solve this problem.

[1) They have devised 2 meth-
od to solve that problem.

(2} They have devised a meth-
od to sclve this prablem.

[3) They have solved the prob-
lem methodically.

[4) They have solved the prob-
lem by a methad.

139, She cannot manage the situ-
alion
(1] The situation cannot be

managed by her

2] The situation is unman-
ageable for her

13) Her situation cannotl be
managed,

(4] Managing the situalion is
nof, possible by her,

140. The officer will convene a
meeting of his subordinates.
(1] His subordinates will he

convenced [or a meeting by
the afficer

(2) The officer will convene his
suhordinates for a meeting.

{3) The olficer would convene
a meeting of his subordi-
nates.

(4} A meeling of his subordi-
nates will he convened by
the officer.

141. Qur hosis irealed us very
kindhy.

(1) We got Kind treatment
from our hosts.

(2] We were treated very kind-
Iy by our hozis.

(3) We were kindly treated by
hosls.

(4) Our treatment was kind.

142. Who painted the wall 7
(1) By whom had the wall

been painted 7

(2] By whom was the wall
painted *

[3) By whom is the wall been
painted ?

(4) By whom has the wall heen
painted ?
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143.The ministry will have in-

structed the security agencies,

(1) The security agencies will

have been instrucled the
milniatry.

(2] The sceurity agencies will

have been instructed by the
sy,

(3) The insiructons were giv-
en by the ministoy o the
securily agencies.,

[4] The instructioms were talk-
em by the security agencles
from the ministry,

144. He was given the detadls of his
uncle's will by the lawver.

[1) Hie unele's will was given
to him by his lawyer

(2] The lawyer gave him the
details of his uncle's will.

(3) His uncle’s will and ils de-

tails were given by the Law-

yErL

(4] The detatls of the will was
given by his lawver.

148. Your little boy bruke my kiteh-

el window this moring.

(1) My kitchen window got
broke Ly your little boy.

12) This morning the kitchen

window was broke by your |

little by,

(3} My litlle boy broke your
kitchen windew this mom-
ing.

My kitchen window was
Lroken by your little boy
this moring.

Directions (146-155) ; Iny the
following questions, a parl of the
senrtence 1s prinlecd in bold. Below
are given alfernatives to the bold part
at (1], 12) and (3) which may improve
the sentence. Choose the cormect al-
lermative, In case no improvement is
nesded your answer is [4),

146, Strangely enough the candi-
dates restricted themselves
to small rallies and kept away
from some rural areas,

(1] the candidages restricted

thuirselves

(2] the candidates were restrict-
ed 1o themselves

(Al the candidates have re-
stricled theirselves

(4] Mo improvement

147.The man who will score the
maximum points, will carry
the truphy.
(1) who scores the maximum
poinis
(2} who the maxirum pointg
BOOTES
(3) who would score the max-
MU painits
{4) No improvement
148. Japanese armics cffort to de-
stroy the Allied forces at
Imphal and invade India, but
were driven back into Burma.
(1) altempted to destroy
(2) experimented to destroy
(3) strengthened to destruct
{4} No improvement
148, India is one of the niost wi-
brant democracies of the
world.
(1] brightest demacracy
(2] vibrant democracy
131 lively dermnacracies
[4) No lmprovement
150. He stopped to work an hour
ago.
(1) worked
{2} to have worked
(3) working
(4] No improvement
161, My teacher is the kinder of all.
(1) kind
(2 kindly
{3} kindest
(4] No improvernent
162, The accident occurred in the
centre of lhe raad
(1] roeddle:
12) path
(30 way
(2} No improvement
153. [Tardly bad [ rcached the sta-
tion when the train stasted.
(1] then
{2} than
(2] since
(4] No iirnprovement
154. He is wilful to help you.
(1) willingly
(2) willing
{3} willully
{4) Nu improvement
155, His (alher died when lie was
VETY Young,
() hroke down

2] passed away

13 took ol

(4] Mo inprovement
Directions (156-165] ! in L
! [eliowing questions, & sentence Yas
- been given in Divect fIndirect form.
Qul of the lour alternatives suggest-
ed. select the ome which best ex-
presses the same senlence in Indi-
rect /Drregt form.
156.The stranger said, “Can vou

show me the way 7"

(1) The stranger satd whetlwer |
ran show him the way.

{2) The stranger asked wheth-
er he could show me the
way.

(3) The stranger asked wheth-
er I could show him the
WHY,

[4) The stranger said that |

| could show him the way.

1537, "Do the slall have any prob-
lemn 7 the manager ashed.

(1} The manager inguired
whether thie slall have had
any problem,

(2) The manager inquired
whether the stall have had
had any prablem.

[3]The manager inquired
whether the staff had had
ary problem

{4]'The manager inguired
whether the staff had any
problem,

158, She zuid lo him, “Who arc
¥ou? Whao are you looking
for -

{11 She asked him who he was
and who he was looking for.

(2] She questioned him wha he
was and who was he look-
ing for.

3] She asked him who was he
and who was he looking for.

[4) She asked him who are vou
and who are you looking for.

159, Shrevas sald to his brother,

“Are you feeling better ¥

(11 Shreyas asked his brother
i he was feeling better.

(2} Shreyas teld his hrother are
you feeling better, -

13) Shreyas told that he was
fealing better,

(4) Shircyas asked his brother

are vou leeling hetter,
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160, "Good Morning, Father!” Baby
Kocharnma would call ol
when she saw him.

[i | Baby Kochaxmma would
call ojf to Father in the
morning when she saw
him.

{2) Baby Kochamma would tell
him 1t was morning when

: ashe saw him.

() When Baby Kochamma
saw him, she would wish
the Father a gond morning,

(4) Baby Kochamma would
call Father when she saw
him fn the morning.

161."What a beautiful gift!" my

"7 friend =aid.

(1) My friend retoried that the

,  Bilt was beautifl,

(2] My [riend =zaid that it is a

© . beantiful gif
(31 My friend explained that
the gift was heaubfal.

(4] My friend exclaimed that
the gift was heautiful.

162, “Are there no prisons 7 asked
Seruoge.

(1} Scrooge inguired about the
status of prisoms.

(2) Sérooge wanted to know if
there were no prisons.

(3] Scrooge asked if there were

prisons. _
(4} Scrocge said if there were

. LD prisons. -
163. He complimented that she
o had done very well.
+ (1) He said to her, “Alas 1 You
did very well”.
+ (2] He said to her, "Very good,
she has done very well.”
[3) He esaid to her, "How
should you do so well 7
{4) He said to her, “Very good,
vou have done very welll®
164. She said that she really liked

the lurniture.
(1) "She really liked this fur-
niture,” she said,

(2) "She had really liked Lhis |

furniture,” she saud,
* 31 %1 really like thiz furni-
ture.” she said.

]

~ (4] "1 hyave really liked this |

furniture,” she said.

| 16B. The mother exclaimed admnir-
i ngly that it was very clever of
it have solved Lhe puzzle
| 50 guickly.
| (1) Yo are a olever. That's
wity vou solved the puzzle
quickly,” said the mother.
21 The mother zaid, “How
cleverly yon solved the pu-
zle” %
[(3)The mother =said, "You
splved the puzzle very
quickly!”
) “How clever of 1.r-::-u Lo have
solved the puzzle so quick-
Iy 1", said the mother
Directions (166-186) : In the
ioilowing two passages some of the
words have been left ot First read
the passages over and try to under-
stand what it is aboul. Then fill in
the htanks with the help of the al-
termiatives given. -
PASSAGE-1
[Question Nos. 166 to 175)
Man worked with hiz small
tools untdl the advent of modern
machinery [166)] by steam and
clectricity. The amall tools (167)
defeat from the big machines, as
{168] hands had [168]) to the hands
{1700 with tools. These machines
operate anly over large (171] of land
and comsiderable (172] arc needoed
for ther procurement and vse, Bur

ing that our peasantry cannot (174)
them. it will =imply mean (175]

trouble.
166, [1) driven
[2) maowied
(3] worked
4] controlled
167. (1) agroed
(2) acknowledged
(3] allowred
(4] permitted
168. (1] free (2] weak
(3] bare (4] strong
168, (1) succeeded (2] produced
! (3 vielded (4] created
| 170.(1) full
. (2] equipped
[:3) covered
(4) painted

i

il thervlore we glw L all f 17&] Eay- |

171, (1) bits (2} pieces
(3] tracts {4) divisiansa
172 (1] sums " {9} moneys
(3] funds (4) cousts
173.11) hope (2] expeeotation
(3) intention (4) ambition
174. (1) manage (2] afford
13) enable 4) inspire
175. (1) asking (2} requiring
(4) pleading  (4) inviting
PASSAGE-II

(Question Nos. 176 to 1585)

Elephants are {178] in India
and in Africa. The (177) elephant
differs In some points [178] the
Indian, being larger wills (179) tusk
and bigger ears. [ fact, the two are
considered to be different [1844). In
bath countries, they live in [181)
in the jungles and are naturally
(182] animals that keep away from
(183]. Elephants are linc adverlise-
ment for [184] for they live [185]
on leaves. grass and roots.
176. (1) available

(2} found

(3) walched

(4) ubserved
177.(1) Adrican

(2] Korcan

i3] Malaysian
(4) Chinese
178.(1) omn (2) by
{3) from (4) with
179.(1) larger (2} wider
{3) long (4) longer
180, (1) varieties (2] kinds
(3] species (4] types
181.(1] groups (2) herds
(3] crowds (4) singles

182. (1) ferocious
(3) shy
183. (1] the world
(2] the water
[3) the cities
(4] men
184. [ 1) spiriitualisam
(2) communism
[3) w:gutaﬁanism
[4) capitalism
185, [ 1) entirely
(2) parLially
(3] prelerably
{4) cccasionally

[2) fearsome
[4] terrible
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Directions (186-200] : You
have two brief passages with 5 to
10 guestions follewing each pas-
sage. Read the passages curchully
and clivose the best answer to each
queston out of the four allerna-
tives,

PASSAGE-I
(Queation Nos. 186 to 195)

In Novernber 1918, he joinad
Sydenham College as a prolessor of
political economice and worked
there for two years. With his littie
savings, some help from the Maha-
raja of Holhapur, and wilh a loan
of five thousand rupees from his
friend, Naval Bhathena, he left for
England 1n 1820 to complete his
studies in Law and Fconomics, He
resumed his studies at the London
School of Econcmics and kept his
Lermns at Gray's Institute of Law. He
turned his attenlion to the London
Museum where the relics of the
saintly and svicntific thoughts are
preserved, where the ruins of Lthe
antique world are displayed and
where Karl Marx, Mazzinl, Lenin
and Savarkar had dug for knowledge
and digested . [z the Muscum, he
pourcd vver books from morning till
evening. Time was an imporiant fac-
tor wilh him. To save both money
and time. Le would go without
lunch. After this, the secand rownd
of reading begins at his residence,
The endless reading would go on il
early morning. He told kis room-
mate that his poverly and want of
time require him to linish his stud-
les as early as possible.

During these sludics in London
[ur hiz academie eminence, he had
not forgotien the real aim in his life,
He could not for a minute forget the
dumb faces of the untouchables in
India. He took up this matter with
the Secretary. of Stale for India and
also held distussion with Mr. Vith-
elbhai Patel in Londen. Neither he
could forget the alien puolilical real-
ilies of the natlon. In a paper read
hefore the Students Union and also
in1 hiz [amous thesis. "The Problem
of the Rupees”, he exposcd the hol-
lowness of the British policies in
India. which ecaused z sur in the
academic world of London and

Ambedkar was suspected to be an
Indian Revolulionary.
1868. Where did Dr. Ambedkar
teach 7
(1) London School of Beonom-
ics
12) Sydenham College
{3) London Museum
{4) Gray's Institute of Law
187. Dr. Ambedkar was & teacher of
(1) Political Economics
(2) Law '
(3) lj..itll.L:raLurE
(4) Pglifical Science
188. Who amongst the fallowing
wag:_glé. Ambedkar's benefac-
tor ?- 1
(1) Rayja of Kathiawar
(2) Queen of England
(3) Raja of KuThapur
(4] Lord Gray
188. Name Dr. Ambedkar's friend
who helped him to go to En-
gland.
(1} Nawal Kishaore
[2) Karl Marx
{3) Lenin
{4) Naval Bhathena
180. Why did Dr. Ambediar Lty to
finish his studies as e=arly as
possible ?
(1) due to iliness
{2) for laek of resources and
time
{3] due to adverse cimate
(4] due to nostalgia
E21. What was Dr, Ambedlkar's real
aim in lile ¥ )
(1) Upliftment of the downlrod-
deri caste
(2) Upliftment of his family
[3) Academic eminence
[4) Successiul career as a law-
ver
192.Whal was the core slogan
raised by Dr. Aanboedkar ?
(1] Bcli-awareness amongst
the oppresacd
(Z) Open revalt
[(3) Papification of the un-
touchables
(4] Revolt of the oppressors

193. Where did Dr. Ambedkar sperd
muosl of his time in London 7

[1) Courtrooms

[2) India House

{3) Roval Palace

(4] London Museum

194 _How many year(s) did Dr.
Ambedltar work a8 a teacher in

Incha ¢
(1) 1 year () 2 ycars
(3} 3years  (4) 4 years

1895. What did Dr. Ambedkar expose
in his thesis ¢
(1) Marginality of the rulers
(2} Intallibility of the Brilish
Rule
(3] Univerzal laws of brother-
hood .
(4) Hollowneas of the Enghish’
.. policies in India
' PASSAGE-II
(@uestion Nos. 186 to 200}
Although speech is the maost
advanced form of communication,
there are many ways of communi-
cating without using speech. Sig-
nals, signs, symbols and gestures

1 may be found in cvery known cul-

ture. The basic funelion of a sigral’
is lo impinge upon the environment
in such a way thal it attracts at-
tention, as, for example. the dots
and dashes of a telegraph circuit.
Coded to refer to speech, the poten-
tal for communication is very great.
Less adaptable to the codification
of words, signs alsn contain mean-
ing in and of themselves. A stop
sign, for example, conveys mnearirng"
quickly and convenlently. Symbols
are more dilficull 1o describe than
cither signals or signs because of
their intricate relationship with the
recetver's cultural perceplions. In
some tultures, applauding in a the-
atre provides poerformers with an
auditery symbol of approval, Ges-
Lures such as waving and handshak-
ing also communicate certain cu);;
tural messages.

Although signale, signs, sym-
bols aund geslurcs are very useful,
they do have a major disadvantage.
They usually do not allow ideas to
be shared without the sender being
directly adjacent to the receiver. As
a resull, means of communication
intentded to be used for long distanc-
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es and extended periods are based

upon speech. Radio. television and

the telephone are only a few of such

INSAns.

186. According te the passage,
what is signal ?

[1}A form of communication
used across long distanc-
s,

{2) The cultlural perception of
communication.

(3) A type of communication
that interrupls the envi-
ronment.

(4} A complicated form of com-
munication tw describe.

197. Choose the correct statement :

{1} Spcech is the most ad-
vanced form of communi-
cation.

[2) Speech is the real form of
communication.

[3) Speech is the basis for com-
munication to occur,

(4} Speech is dependent upon
the advances made by in-
venlors. '

198, Choose the most appropriate
title for the passage.

(1] Signs and signals.

(2} Gestural communication

[3) Speech variations

(4) Means of communication

198. Why were the lelephone, ra-

dio and TV invented 7

(1}To provide new forms of
enterlainment.

(2} It was believed that signs,
signals and symbols were
obsolete,

13) it was difficult to under-
stand symbegls.

[4) People wanted to commu- |
nicale across long distanc- l
s |

200, This passage cxplains that ___ l

(1) Symbaols are the easiest to
interprel.

(2) Signals. signs. symbols and
gesrures are forms of com-
municabion.

(3) Significance ol waving and
handshaking is dilferent in
different eultures.,

(4] Different cultures have dif
ferent signs and symbals.
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